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J?Qqﬁma“-‘ {Business Organisation
' and Management )

Full Marks : 80
' Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :

(any ten) 1x10=10
wefe il e Fow SR Te i g \
(Ficpicant weor)

(@) The process of converting the message
into communication symbol is known as
(Choose the correct answer)

AT c@siicae Bzte Telfes s9 ofemas
CRRITCH! AT Sl i 2

(i3 Tl AR Tlersd)
() encoding
A Aol

Contd.



‘ |
(ii)' decoding . e | (c) Motivation is a stimuiatib‘n of mjhd under
SfEEed ' the management function of
o : p T ‘ (Choose the correct answer)
iij) transmission . s :
(i) S . e G TR BRES B R
oo S RITE! SRR P TegE?
(iv) recoding B | | (3% Tt AR Thvear)
4T AFEFA o o (i) directing
(b) Informal communication is characterised. v '
by which of the following distinctiveness ? () organising
_ (Chooée thf.? correct answer) Aestong IR
SHIPING QIEN Rt ot wRse | |
oite e 3R ARe B | (i) controlling
(i) Task-oriented :
W : (iv) co-ordinating
(i) People-oriented : , .
W ‘ (d) Control exercised by lower level managers
: T is (Choose the correct answer)
(i) Position-oriented | o siRoTReReT Bl e T4
Z ‘ | et (7% Tewcir Ak Tlerea)
(iv) St?uCtUIC-oriente d : ‘ (i) strategic level control o
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(@) tactical level control

(e)

(iii} - qperating ‘lével coﬁtrol
PR <1 et
(iv) None of the above
ST (IIFAIGIRS 72y
Which one of the following human, needs

g‘ll

. (Choose the correct answer)
(BT TR/ SRS Wy sy

mmwmﬁ;mm“ﬁm

O TS a1 s
. (T5% Bewist a1k Baew)
(). . Psychological neeq
(i})  Security neeq “
(iii) Social need
(iv) Ego need
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Which of the following roles of a managér,
is important to defeat grapevine ?
(Choose the correct answer)

it S ATAEE 2 |
(I Tt AR Bee)
(i) Management role
(i) Interpersonal role
Efes e
(iii) Informational role
o AT i
(iv) Deciéion_al role

Providing information to top management
by financial manager is his/her
(Choose the correct answer)

T o5l TORT YT @I A ey
A1 (5% Tewthr AR Tlmsdr)

(i) recurring function

i Gadan
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(ii) Nonrecurring function .
ST |

(i) . routine function

.'(iv) advisory function
AT

(h) Which of the followmg is a part of

financial decision-making ?
(Choose the correct answer)

oo (RIFTD! R Pt Mefirer ey ¢
| (13% w5t AR Chveay)
(i) . Inve;stm’ent decision
KR Srarg
(i) Financial decision’
(i) Dividend decision
o Rierea P

(iv) All of the above

SARE WBIRTRE
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(i) Which of the following is not included in

demographic segmentation of market ?
(Choose the correct answer) -

RS (@R TRAIT ST ITE Rorems
wRYE NN (I TEIh! AR Tleved)
(i) Gehder _ |

o
(i) Age

A

(iii) Education
sl

(iv) Culture

. R e

() Who introduced
‘marketing mix’?
(Choose the correct answer)

the concept of

el R 4RAI! (I SIS SR
(73w Teweh AR Bleredr)
(i) William J. Santon
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(@) Philip Kotler .
Tefeet s'%eig

' (iii) Henry L. Hemen,

(k)

&R @1 @
(iv) N‘,A H. Borden

. 9B IT
‘Mobile hand-

set’ 1is an example of
(Choose' the correct answer)

T3 (T 55 firare RINCD! T B
(i fb‘@aa?r 2 @7‘%\9?17)
(i) perishable goods
T A
(i) non-durable googs -
o A
(iii) durable g'oods
N A
(iv) None of the above
| TARE Gie ey
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0

(m)

()

-ﬁ‘?m g 2

Fast food outlets like KFC is an example
of which marketing technique ?
(Choose the correct answer)

%S 7 ReloW (8 (T KFC, fesie et
(aﬂamaﬁ@ﬁ\w)f

(i) Product franchising
AN cpeeiRfenr
(ij) Business-format franchis?i-hg
FeRcn afeR iR
(iij) E-commerce '-
E-36
(iv) Retailing
Yl Retem

Marketing begins and ends with.
. (Fill up the gap)

Wwﬁmwmﬁﬁ__a
e || (T 312 2[5 )

The sole trader’s liability for the debts
of the business is

(Fill up the gap)

ﬂﬁ@ﬁmwmwcﬁ gmwRe 1
(T 312 o7 T)
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(@

The Indian Partnership Act, which
governs the formation ang management

~of pa\_rtnership Organisation in India.

(Fill up the gap)

The maximum humber

of
must be partners

—for g firm carrying
. , ng on
banking business, .. (Fill up theggap)

A partnership is the result of an
agreement which can pe oral or written

(State True of False)

wﬁm@rw G 31 B g o

Y]

I
A shareholder is an agent of .the
company. (State Trye of False)
GE SR (IR e |

(OF @ oy )
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(OF 7 orom faey)

(s) Joint stock company’s shares are easily

()

ﬂﬁmmwwﬂﬁnw@s{n

transferable. (State True or False)

~ Joint stock company3 W‘(“TW NS

R IR AR (o7 @»W@ﬁﬁ/ﬂf)

Planning involves an intellectual

exercise. (State True or_' False) ,

(3% & qoF @) -

2. Answer the following questions briefly :

(any five)

2x5=10

fmetars 5y Tew s ¢ Rzt o5ty

@

(b)

()

@
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What is service sector ?
CR A8 MW & 2

What is globalisation ?
(TR T R e
What do you mean by outsourcing ?

T Mw &F it

Define sole trading business.

MZ-afw eI A T
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(e)

(9)

()

()

0

Write short answers to ¢
following :

oo A BT 5 e favay s

(a)

business.

Write a note on
firm.

Y R ARt it @i iy (oret et

- What is matrix orgamsatmn ?

Matrix organisation Sigs = oy

What is delegation of authonty?
FOT AW A [

Define leadership,.
P e i)

What is SEBI ?
SEBI W= & ¢

What is E-commerce ?

~ E-commerce M & ¢

5x4=20

Write a note on socig] responsibility of

TR TS TR o170 bt o o |
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joint Hindu family -

ny four of the-

(b)

()

(d)

(e)

@

Write the features of franchisiﬁg.

criERnes CIRBRTIR ot

Write the importance of _delegation of
.authorlty ' '

»>~

mm@wwmamx

What are the problems associated w1th

small enterprises ? Exp}ainf
w7 PP TS WYS spRePRE 3 2
A

State the merits and demerits of equity

share.

MRS SR aﬁmquﬁwwmm
4

Write a note on ‘Make in India’

Movement.

‘Make in India’ SNCVIEWT 8IS Gin) CBWI

e

State the limitations of planning.
R Moo Ra Tt SIeReR |
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4. Write long answers to an

' (h) Briefly explain th Her ’
Y 1€ Herzberg two-factor

Herzberg two-factor wegs R it <=1 |

Y four of the
- 10x4=40

following :

(a) Explain the Steps of neeq in A.H
~ Maslow’s need hierarchytheoi*y. o;

motivation. Also €NUmerate ‘the merit
and limitations of the theory )

Q. G} ABTI elrehfromen
BRI SEIRICIT
OIS SR AR % Rt Sz o |

~(b) Describe various barriers ¢
. . . o
com icati
Munication. What measures would

ou '
y' Suggest to overcome such barriers ?

mmﬁaﬁ%ﬁﬁf%?wﬁﬁaﬁmnm

€9
iy R R s s i
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(c)

(@

(e)

Explain four basic principles of
decision-making. Also state the -
.approaches in decision-making.

IS AT 5135 TE NS YT B | 2900
B ozl S AT AT el 31 |

Expla{in the various bases of
departmentation. Also state the benéﬁtg :
of departmentation.

FrorTeeR oy e At F4|
FonERe JRYR T 31|

Define parfnership. Explain its majbr
advantages and disadvantages.

SIS TS TR | 3 U AR Wi
SRR U | ‘ |

What is sole proprietorship ? State its

features. Explain the advantages and

limitations of this form of business
Organisation-

ST I T 2 TR ey B
ST AR R e SRR T
fa | '
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. (
Define human resource management.

Explain its functions.

TR 17 ARG e fral | 2 e
1T 34 |

What is meant by financia]
management ? Discuss the objectives
of financial management.

RS ARG T & 31 2 R siRoiemr
SOPIPTR SIS |

' Whgt is pricing ? Briefly explain the
‘various pricing policies adopted by

companies.

WW#%?WW@@%F@@

T HTwest et

What .is product life cycle ? What are
the different stages of product life

Cycle ?

5000




